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Question Number : 1 Question Id : 3354724631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

When was Madhya Pradesh Ecotourism Developrrent Board constituted? | W Tod Swmicd e @12 ®7 1 &
TorT?

Options:

1. % March,2005 | A&, 2005
2. ® August,z011 [ &g, 2011
3. ¥ July,2005 | o8, 2005

4 % July,2003 | FATE, 2003

Question Number : 2 Question Id : 3354724632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Indira Gandhi National Tribal University is located at [ Sieaxr Tl T F==1d 177 deatdenea w57 i9e 27

Options:

1. # Katni | wedr

2. % Bhopal | #UT&A

% % Rewa | ¥ar

4. ¥ Amarkantak | SRGe®

Question Number : 3 Question Id : 3354724633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where is the Wildlife Institute of India located? | AR graeiia T Fgl 0T 57

Options:

1. #® Jorhat | ARgEe

2 % Mussoorie | AELT
3. ® Coimbatore | FEEL
4. ¥ Dehradun | g0

Question Number : 4 Question Id : 3354724634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the full name of the great Hindi writer whose pen narme is Ajneya? | A5 5ol oi@® %1 qui I17 F7 &,
FATT Fietg A &5 57

Options:
1. % Makhanlal Chaturvedi | ATETATA Agaer
2 % Keshav Das | g 2T

3. % Balkrishna Bhatt | aTegm A%

4. ¥ Sachchidananda Hiranand Vatsyayan | AzgHe & e aedmaH

Question Number : 5 Question Id : 3354724635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the two major east-flowing rivers in India hawe their beginnings in the Western Ghats? | Wﬁﬂ;ffﬁr
ST S5 ST i A 1 W At & Sgn uken gt |/ g e

Options:

1. ® Narmada and Tapi | 7Har & Fmi
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2. % Tapiand Krishna | 0t i g
2. ¥ Narmada and Godavari | FHT &1 TiEmE
4. ¢ Godavari and Krishna | Tt & g

Question Number : 6 Question Id : 3354724636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

“World First Aid DE[}.?’ 15 celebrated on
1 AT AT 31

Options:

1.p ¥ Second Saturday of Septernber | e & gAT AMiaR
2. % 12th September | 12 Fdex

= % 11th Septemnber | 11 Fdax

4, % 10th Septemnber | 10 #@ex

Question Number : 7 Question Id : 3354724637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The 42nd Amendment Act was adopted by the Parliament in _______ N H 9T ERT 4297 gatee srrEeas
STTATT AT M

Options:

1. % 1987
Z % 19683
3. ¥ 1978

4. % 1977

Question Number : 8 Question Id : 3354724638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What was India’s ranking in Men's Football in the FIFA list in October 20177 | #@gac 2017 | GiwT &= § 77
Feald AR ®T HAT U 1517

Options:

1.9 105
2 % 106
3. % 107

4. % 108

Question Number : 9 Question Id : 3354724639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following is the oldest Football Club, still playing, in India? | FEimET # 9 &4 O w1 Gad g-r
TaTel dhetel 1 A1 g A1 T off Wt 15T 87

Options:

1. % Mohun Bagan Athletic Club | AIET @ T TEEF Folel
2. % Mohammedan Sporting Club | ATEFHE ST T
3. ® Mahindra United | Tfggr gamEes

4 % East Berigal Football Club | S&¢ e Feaid Fold

Question Number : 10 Question Id : 3354724640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

Who among the following was one of the leaders of ‘India Against Corruption’ movernent? | s & € @ 41
AT "GEET F g TR (s%‘m T A" AT o H Herd T 17

Options:

1. * Javaprakash MNarayan | STuerer S0
2. % Gopalkrishna Gandhi | T et
= ¢ Anna Hazare | agTEAR

4 % Subhas Chandra Bose | G99 og 919

Question Number : 11 Question Id : 3354724641 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

which ore of the following Indian states is the largest in terms of area? | FETRTET WA = T # & 19 97T,
SR o Had H wed F27 87

Options:
1. % Madhya Pradesh | HeT 0q

2 % Tamil Nadu | TE#Z

2. ¥ Rajasthan | ==
4. % Uttar Pradesh | Z0¢ Ugar

Question Number : 12 Question Id : 3354724642 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who wasgmm in as Railway Minister of India in September 20177 | ®dew 2017 # AW @& & 537 & &7 # fFe
ST TIE0T T

Options:

1. ¥ Suresh Prabhu | G0 T

2. ¥ Piyush Goval | Higw M

3. % Mahesh Sharma | AT aWAT

4. % Nirmala Seetharaman | e daweT

Question Number : 13 Question Id : 3354724643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which filrn is India's official entry for Oscars 20187 | 9 &t ARd 14 TWheH 2018 THC & 60 aTiamier &0 &
AT & TS 27

Options:

1. % 4 Deathin the Gunj | T2 AT
2. % Padmavati | TIEdT

2. ® Raees | A

4. ¥ MNewton | =T

Question Number : 14 Question Id : 3354724644 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The headquarters of the Hindustan Aeronautics Limited is located at | Tgrgea™ WHTCHd Wi @1 geame w51

Options:
1. ®¥ Chennai | 992

2+ Bengaluru | =T
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3. % Koraput | FRIE

4 % Dewas | 2

Question Number : 15 Question Id : 3354724645 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Tawa Eeservoir 15 rearest to | TAT AT

Options:

1.IO ' Satpura Mational Park and the Bori Wildlife Sanctuary | SaeT TR 32T ST ST ST
2. % Kolar and the Halali dam | ®IAR & §ATT amer

3. % Rani Avantibai Sagar and the Sukta Sagar | T SEd =8 AR Td a1 G0

4. % vyarma and Barna rivers | SRAT @47 Aleat

Question Number : 16 Question Id : 3354724646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Shw ur1 was the Akhet Gah (hunting place) of kings belonging to which dynasty? | T9eqy, & T9dT 9 FafdT
(P T e

Options:

1. % Mughal | gTa

2. % Shung Saatvahan | 417 AT
= % Maurya | 7

4 % Paramara | WAK

Question Number : 17 Question Id : 3354724647 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Garhakota Fort is in which District of Madhya Pradesh? | Wemear & foe Fer # mgmier o 27

Options:

1. ¥ Hoshangabad | glemmems
2. % Gualior | TaETHe

= # Raisen | AT

4. ¥ Sagar | 9T

Question Number : 18 Question Id : 3354724648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
where is Ken Gharial Sanctuary located? | 3 Dia<Td SRR Fgl 0T 57

Options:

1. % Chhatarpur | Fa<
2 ® Mandla | AZT

3. % Rewa | f@r

4 # Dindori e

Question Number : 19 Question Id : 3354724649 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following forts is in Harda district? | Tgiaies # & @ a1 frar geer e # 27

Options:

27th Dec 17 Shift 1



27th Dec 17 Shift 1

1. ¢ Wakrai fort | Tag foam

2. % Devgarh fort | 2amg fFar

= % Mohangarh fort | WS foFaT
4, % Asirgarh fort | s AT

Question Number : 20 Question Id : 3354724650 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How many floors does the Veer Singh Mahal in Datia have? | gitar # X g vga § 3+ o aa 27

Options:

1.9 7

2. %5

3 0% 11

4. % 10

eneral Maths and General Aptitude

Section Id : 33547294
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section |1d: 33547294
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354724651 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The 2017th letter of the sequence MALAYALAMMALAYAL AMMALAYALAM. where MALAYALAM 15 repeated
15 P MALAYVALAMMALAYVALAMMALAYALAM. . . SIFHFT 201 7= 38T _______ & TRl MALAVALAM EEHER]

Options:
1.¥' M
2% A
2% L
4 %y

Question Number : 22 Question Id : 3354724652 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Five years ago, the age of father and son are in the ratio 2:1. In 10 years later, it will be 2:1. What is the age of
the o now? | S o4 Ugel, TUTT ST OF @1 7T 7 SgaT 3:1 @M 10 =9 &7, A5 201 G O i o A1 S71 747 77
Options:
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1. % 15
2 ¥ 20
z. % 30
4. % 45

Question Number : 23 Question Id : 3354724653 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The rational number equal to Eis I | g o SRIeR ol T & %I
Options:
16
1 8 21

16

17

24
25

438
o 2%

Question Number : 24 Question Id : 3354724654 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If the base of a triangle is doubled and its altitude is kept the same, then its area will be: | TS TF HE0T HT TR
BT ¢ TS A o FHeRT FaiTe AHT TET AT, 1 JEHT Sl 51 AT

Options:

1. % 4Times | 47T

2. % S Times | 5 THT

3. ¥ 2 Times | 2 7T

4. % Mo change | F1 Uitad AT

Question Number : 25 Question Id : 3354724655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If the sum of a 2-digit number is 73 and their difference is 37, then the nummbers are; | 2 2@ & T=GT FT 700
73 & ot 39T &9 37 §, 99 9% &

Options:
1. ¥ 55and 18 [ 55 &W 15

/
> ® Soand 18 ) 50 #w 18
3. ® 20and 2z | 30wz
4 ® 72and 12 | 72 & 12

Question Number : 26 Question Id : 3354724656 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

What is (2.5)% * 42 equals to? / (2.5)? * 42 fopah sR1€X 87
Options:

1. % 10

2 % 20

3 % 21

4. % 100

Question Number : 27 Question Id : 3354724657 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the average. | 3T e

12, 62, 38, 21, 27
Options:
1. % 31
o % 32
3 % 33
4 ¥ 34

Question Number : 28 Question Id : 3354724658 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

What is the rational number qual to the I‘EpEEltiﬂg decirmal 02162162167 QFH QELH FELEE) H'E?-]
0.216216216.... & sRT&T TIHY ST 7407 &7

Options:

1. % 27/125
o ¥ 8|37

3 % 271999
4. % 216/100

Question Number : 29 Question Id : 3354724659 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

All the three squares ABCD, EFGH and GHIJ have equal sides. D is the mid-point of EH and C
is the mid-point of HI. What is the ratio of the shaded area ABCIJ to the sum of the areas of the

three squares? / @&il tlieil @aif ABCD, EFGH 3R GHIJ &1 ¥HT ¢ §1 EH &1 #eg
fdeg D & 3R HI & 7= faeg C 81 3=oi1ied &7 ABCUSHT dieil a9l & &% &
I & ST 3T e

Options:
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1% 11
2 %12
3.9 13
4 % 1.4

Question Number : 30 Question Id : 3354724660 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If al+b? = 4, then the value of (a+b)?+(a-b)is_ . /ATG al+bi=4, AT (a+b)y*+(a-by &1 A

__ &l
Options:
1. %2
2 % 18
3.9 3
4 % 1

Question Number : 31 Question Id : 3354724661 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If a # bis defined as a? —ab + b2, then (-2)#(2#3)is equal to: / Tfc, a# bl a?—ab+b? & T
& afenfea frar Smar 8, ar (2)#2#3) 584 e b

Options:
1. %7
= % 53
3. V¥ E7
4, % 25

Question Number : 32 Question Id : 3354724662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If the distance from your school to house is 1.2 km and if your walkin%speed is = kmjhour, then to walk the
distance from your house to school you would take: | @iie s Teeimer & o & gii 1.2 Tl § 9o ol skt fge
e T TG 3 TR TeT 8, AT S0 a0 O 2o aF $1 g a9 H § 5aA1 aH wi

Options:
1. % 2 hours 30 minutes | 2 ¥¢ 30 fB9T

= % 24 minutes | 24 9T
2. % 28 minutes | 36 9T
4 ® 25 minutes | 2.5 i T

Question Number : 33 Question Id : 3354724663 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
If one-fourth of g of two-third of number is 34, then what is 20% of the number? / I Tsh

T & CHETS T SHTTE TS 348, A TEAT H 20% & 87
Options:
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1. ¥ &3
2. % 36
3% B6
4 % g3

Question Number : 34 Question Id : 3354724664 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
[ am five times my daughter's age. Six years from now, my daughter will be one-third my age. What is my

daughter's age? | HOT I3 BT QAT T T & O AT 81 Tt & 75 oy W, HO gt W S o Ue-TagTs g ST 5 gt 6
TAAT T Tt 87

Options:
1. % 7 years
Z ¥ B years

7oy

S oy
4 =

!
f
2. % Loyears |
f

4. ® 4 years

Question Number : 35 Question Id : 3354724665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Three different people buy some books for Rs. 92,50, E5. 129.50 and Es. 166.50. The rmaxirmam price of the
goo}: is: | T S-S ik §F Jead wH: 92 50 7007, 129,50 207 0 166.50 #0007 § |ad 5 Ted® &1 aArewad g

Options:
1. % Es 15E0

2. ¥ Rs 1850
2. % KEs 21.50
4 % Hs 2350

Question Number : 36 Question Id : 3354724666 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The smallest number which when divided by 11, 13 and 15, and the remmainders are 9, 11 and 13, respectively

is: | AT ~gaw " P A 11, 13 Ug 15 & Tt frar Smar 2, 97 S9ea #ra: 9, 11 Ud 13 WA BlaT &
Options:

1. % 214

o ® 2145

3. ¥ 2143

4. % 2154

Question Number : 37 Question Id : 3354724667 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Cornplete the series: | S0t & QT &
4,9, 18, 25,

Options:
1.9 26

2 % 35
3. % 37
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4 % 28

Question Number : 38 Question Id : 3354724668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The LCM. of 112, 252 and 99is: [ 112, 252 Ud 99 %1 aqay G000 F &

Options:

1. % 105084
2. % 1584
2. ¥ 110288

4 % 110088

Question Number : 39 Question Id : 3354724669 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The sum of the first four prime numbers is: | WIH =T SR TET! FTATE

Options:
1. % 14
2. % 15
3.9 17
4 % 19

Question Number : 40 Question Id : 3354724670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the %Obabilit? of getting a day which starts with letter T in a week? | U% gu1g # 39 a9 & W g4 & a7

T T & AT 167 318 T oF 91 WRFT

Options:

1.9 27

2. % 117

2 %1

4. % 5|7

General Hindi

Section Id : 33547295
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 33547295
Question Shuffling Allowed : Yes
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Question Number : 41 Question Id : 3354724671 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

FA=T 2Tl T IR TR S ARdT @ §1aT 5, 3% ¥ed & -
Options:

1. % &=

2 ¥ g
3. % Ay

4. % ggm e

Question Number : 42 Question Id : 3354724672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Tewawm fbstt ForT TotaTg e gt ST ST 8
Options:

1. % @it

2 % v

3. % AmH

4 Orag

Question Number : 43 Question Id : 3354724673 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T3 TR FaX T TS50 57

Options:

1. ® g5

o ® A

3 ¥ TET

4, % gy

Question Number : 44 Question Id : 3354724674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T T T HTET T O | ARl AT AT a7
Options:

1% ar

2 %3

3. %3

4 ¥ &

Question Number : 45 Question Id : 3354724675 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
RIS o R W __ FARN 50 a1 § /g1 0 @mem

Options:
1.9 a7

= %8
I 1ear
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4. % gnit

Question Number : 46 Question Id : 3354724676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘A F g e # S A e
Options:

1. % U

2. ¥ UOw

3. ® g

4. #® T

Question Number : 47 Question Id : 3354724677 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
= F Ui HEE S @ | e

Options:

1. ¥ vt
2. % SamTEm
3. o gl
4 ® w

Question Number : 48 Question Id : 3354724678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TeF T HIA S ¥ e e A AU e ATy
Options:

1. % it

2 % T

3. % o

4. & Fomi

Question Number : 49 Question Id : 3354724679 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
I & 9t ey e A e e gy

Options:

1. % gn + F1e
2. % T+ A
3. ¥ O 4 A
4. ® guT 4+ A

Question Number : 50 Question Id : 3354724680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

WA FIAM Mg Mg H A T ATE?
Options:

1. T

2 % s
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3 %93
4 % {ag

Question Number : 51 Question Id : 3354724681 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T eI | AT e, MR A S I ATE?

Options:
1.9 e

2. ® orEieda
= % S
4. % R

Question Number : 52 Question Id : 3354724682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

STHGRT e H T # & @ e 27
Options:

1. % Jcqey 9ug

2 % fmrEEE

3. ¥ TR gAY

4. % ity gumg

Question Number : 53 Question Id : 3354724683 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
R FamT ggren @7 ol g d S et A ge

Options:

1. % wrTa g7

2. o e d maT gEr
3 % et g
4, % TR HreT wAT

Question Number : 54 Question Id : 3354724684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TULE W g T A W AR

Options:

1. % Fiegw
2 ¥ 0
3 % audw
4 % afimgw

Question Number : 55 Question Id : 3354724685 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Ul A g A S ata w27
Options:

1. % g o

2. % dedea T

AR By

4.@*’34%?11?

Question Number : 56 Question Id : 3354724686 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
ST U H ZaT 1, TR T 39T AR

H I AT STF N 5 TRl et g=y?
Options:

1. % i aidsr

o ® JUAT AR

S ¥ TUE AT
4, ¥ HIF AT

Question Number : 57 Question Id : 3354724687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘ST e T geg H TRl 87
Options:

1. afmaa

2 arf

3. % arEd
4. ® arfETE

Question Number : 58 Question Id : 3354724688 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ST TS FlR I w1 ol ard giag- Fomamrel & T § ugAT

Options:

1. % Hel g AT @ AT
= % grggrar T

3. ¥ aTTEer e weT
4. ¥ [T ST ST

Question Number : 59 Question Id : 3354724689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“ PHCETENY” ATHE AR WA O & T o @ @1 T 57
Options:

1. % gige

2 & HdgE
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3. ® g
4 ® gz e
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Question Number : 60 Question Id : 3354724690 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A ferd W o g 2P
Options:

1. v 31

2 ® d9

3 % Or

4. %z

Fural Econormy and Panchayati Raj

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section 1d:
Question Shuffling Allowed :

33547296
4

Online
Mandatory
20

20

20

Yes

No

1
33547296
Yes

Question Number : 61 Question Id : 3354724691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Total number of Gram Panchayats in Madhya Pradesh | T3 0&a # Fal U0 T4 a1 g7

Options:

1. % S000-10000
Z % 11000-15000
2. % 18000-20000
4. % 21000 -25000

Question Number : 62 Question Id : 3354724692 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Minister of Panchayat & Rural Development in Madhya Pradesh presently is

T U W T waEt
Options:

1. % Gopal Ehargav | T AT

= ® Narottarn Mishra | A€ T

3. % Umashankar Gupta | IS AT
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4, % Gvan Singh [ 79 ¥E

Question Number : 63 Question Id : 3354724693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following districts in Madhya Pradesh produces maxirmum mustard? | Fed 0 & FoieEs Faid @
TeperH arferad wA! & I ST 57

Options:

1. % Damoch & Vidisha | ATF &% &g
2 ¥ Morena & Ehind | §7 #K W

2. ® Ratlam & Dewas | TaaTH 1T 2

4 % Dhar & Indore | 9° & 2208

Question Number : 64 Question Id : 3354724694 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the objective of Beej Gram Yojana in Madhya Pradesh? | 7T W2 # S TTA TT &7 J590 747 57

Options:

1. #® Toproduce surplus seeds | STfdTes S @ JeET

2 ¥ To develop high quality seeds | 3 T0ET @16 & o &d FeAT

% % To buy seeds from other state governments | W Twg TR O o1 &l Telg FAT

4. % To sell seeds to villages of other states | & T4t & T &1 @51 & =T

Question Number : 65 Question Id : 3354724695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhat is the planned rate of Agricultural growth in the 12th Five Year Plan (2012-17) | 122 t=ratia =47
(2012-17) # T The & = o€ T 57

Options:
1.9 4%
2 % oy
3. ® E%
4 ® 7%

Question Number : 66 Question Id : 3354724696 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following does NOT grant any loans to farmers? | aieTEd # 8 &9 @1 ge Tram! @1 #1g Fm
WE g T

Options:

1. % MNationalised Banks | TEEET <@

2+ Reserve Bank of India | Wrd = fed dw

% % Regional Rural Banks | &= TTamT @

4. % State Co-operative Banks | T Ag@l dF

Question Number : 67 Question Id : 3354724697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Krishi Rin Samadhan Yojana for farmers was launched in June 2017 by which one of the following

states? | TRTEET el § & T T o G et o TR i S0 JuTen I S 2017 § O & e oty
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Options:

1. # andhra Pradesh | 3Ts7 73T

= % Uttar Pradesh | Z9¢ U&ar

3. ¥ Madhya Pradesh | 7T 0o

4. % Himachal Pradesh | TEAR=R 02

Question Number : 68 Question Id : 3354724698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The implementation technique adopted bs.r Pararmpar ﬁt Frishi Vikas Yojana for prom0t1on of organic

farming is called: | AT ST F ag@T 4 &F eI T =T &T SJ0TE T2 ST {-a/ ] de-1eF &0 FEaldl 5
Options:
1. ® Individual Approach | STweTd Ewm

2. ¥ Cluster Approach | ATHEH ZE®T
3. % village Approach | WIH giEw T
4. % PGS Certification | PGS WA

Question Number : 69 Question Id : 3354724699 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The MNational Land Records Modernization Programme (MLEMP) does NOT include: | Ss9a sz fagd gieaigtaT
T (MLRMP) # FefatET afia w5t g

Options:
1. ® Scanning of cadastral maps | HI-ATHRE & ET

2 % Digitization of Land records | YTl &1 EFesimr
2. % Survey using ETS | ETS &T WA ®ed 57 T
4. ¥ Issue of Kisan Credit Cards | FFa sige ®18 S &7

Question Number : 70 Question Id : 3354724700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Madhvya Pradesh REesettlernent of Displaced Landholders (Land A%quisitionj Act was enacted in

ey T TereerTit e o qredaeu | ToRIT TIIT &M

Options:
1. % 1947

2. % 1949
3. ¥ 1954
4 % 1957

Question Number : 71 Question Id : 3354724701 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which is the implementation agency under the MGNEEGA at the village level? | BT & 5T @19 G ST (e
T TITHTT &7 oY 27

Options:

1. ® villagers | TTHMT

= ® Private Contractors | 1o Sogw
%, ¥ Gram Panchavat | TTH T=mad

4, % Beneficiary | @il
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Question Number : 72 Question Id : 3354724702 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Where is State Institute of Agriculture Extension & Training (SIAET) located? | T 5¢c|c?.g, T T e T e ot
UE ST (SIAET) TgT 9 27
Options:

1. % Bhopal | i0T&A

= ® Indore | 32T
3. ® Gwalior | TEeaT

4. % Jabalpur | S&EAYY

Question Number : 73 Question Id : 3354724703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which of the following districts of Madhya Pradesh is an R & D centre of Borlaug Institute for South Asia

(BISA) located? | Ty Uee & FEieiEd Mol 8 § @9 § ol aie T SH¢ et B a3 TR (@1emeuay) &7 A7 U &1 &g 87
Options:
1. # Bhopal | \iTe

= ® Indore | g2

3. ¥ Jabalpur | SEegY
4 ® Gwalior | TETEET

Question Number : 74 Question Id : 3354724704 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Green Revolution was successful in India mostly in the case of which of the following? | g§d @i ART H

o # 9 frer o # Aaiiees 9 w@r?
Options:

1. ¥ Wheat | T

2 % Tea | T

3. # Sugarcane | TGT

4. % Oil seeds | TAgA

Question Number : 75 Question Id : 3354724705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which one of these forms of Panchayat is not a part of the constitutional system of Panchavyati Raj in India ? |

TgieiET § & U=Ig @7 @19 A7 e AT o TaTad | O B SereiTiver WOTTe ! T AT A5 1 a7

Options:
1. # Gram Panchayat | 70 T=ad

2. % Janpad Fanchayat | F=0g 0=
Z. % Zila Panchavat | F&T femaT
4. ¢ Khap Panchavat | 90 t=ad

Question Number : 76 Question Id : 3354724706 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘Elue Revolution’ in India refers to focused developrment and managerment of _______ .| AT # i w
_______ & e d T 7% Welel 1 T2 1T F4dT 5]
Options:
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1. % agriculture | FH

2+ Fisheries | AF@ 916

% % Petroleum production | UEieH Io024
4 % Oilseeds production | feg SqumeS

Question Number : 77 Question Id : 3354724707 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

How many Rural 3elf Ermployment Training Institutes (RSETI) have been set up in the country as of 20167 | a
H 2016 T fohae & Soh UHIATTHE & (=11 S [exle [WTRITT T TR TaaT J%T] wmﬁﬁa@m%ﬁﬁﬁqnq%?

Options:
1. % 500

= ¥ 5EE
=z % gon
4 ® 475

Question Number : 78 Question Id : 3354724708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Eharatnet project 1s related to

Options:

1. % broadband connectivity to gram panchayats | TTH U=Ed! #1 #1s4s digeide

2. % high speed internet to farmers | Tl @ 3 T T Sete

% % g project connecting rural area with urkbarn | 7 % T AT 87 B AS T TF T ==-T
4 % free wifi to students in rural areas | WHT g=t # ekt #1 Hgere aEwe

Question Number : 79 Question Id : 3354724709 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which part of India is excessive irrigation a major cause of land degradation? | HRd @ e Wi # srcates
AW TelTae FT & FR 27

Options:

1. % Punjab and Western Uttar Pradesh | U=Te 2¥ qRAT 39 08T
2. % Eihar and Crissa | g & stz

= # aindhra Pradesh and Karnataka | &l W2 7 dies

4, % None of the above | IWw H S FE T30

Question Number : 80 Question Id : 3354724710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Panchavati Raj is primarily based on the ideclogy of
|

Options:

1. # cultivating political awareness | TFE-G® ATEFIT G 1T
2 ¥ democratic decentralization | WATTT® g &

3. ® cormrmunity developrient | AR Hwrd

4. % grooming political leaders | TF=aTaT FT STAECT

27th Dec 17 Shift 1



27th Dec 17 Shift 1

Cormputer Knowledge

Section Id : 33547297
Section Number : 5
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 33547297
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354724711 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The technical major difference between LAN and WA is: | LA F9T WAN % sfia To-1e1 ®0 9 THF 07 e gar g

Options:
1. ¥ Area covered | TERT gaim &=

2. % No difference | #1E sq€ TR gHATE
3. % Speed | T
4. % Spelling | @FAT

Question Number : 82 Question Id : 3354724712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Howr 10 protect formula present in cell A22 in M5 Excel and also share the excel sheet with others? | THIH

o H 6 A22 | JURST TF W GRS T AT 3 oW 3 U o T W S 9 @ AT T AT 87

Options:

1. % Change the font colour same as cell colour | BT+ o 7 %1 &6 & 37 & GAF (7§ 7261

2 % Copy A2 contents to other cell and add forrmula | AZ2 & T F1 3 96 § FUT HE S HTHAT 0T H

3. % Protect entire sheet | Qi o & GEiET

%ﬁ:tect cell AZ22 to hide formula and protect sheet | WIHFAT & 5158 F & o] &7 A22 T TEET P AR AT Fr

Question Number : 83 Question Id : 3354724713 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is computer forgery? | FHIET AT F4T 57

Options:
1. ® The act of stealing passwords and aadhaar nurmbers | TESS T ST Had 2K @1 92T
2. ¥ The creation of fake electronic documents to defraud government | TET & 2MFET 3 o 70 ATHT Soigel (o

ZTgHe 39T FAT
3. % The act of gaining unauthorised access to data in a computer or a systern | Hgey ot a1 et e & 207
T e UeFEtd HTAT HAT

4. % The act of distributing pirated software | TEdes ATTeaT H BT I T & T2AT
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Question Number : 84 Question Id : 3354724714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the meaning of rebooting’? | e ®T e Fa7 87

Options:

1. # Preparing a disk for initial use | WRE IU=T & o0 T Zew o d=amit

2 ¥ Restarting a system | 99 ®1 [T WRT AT

% % Compressing data to increase free space | ol 09 F514 & B0 227 & AR @7
4. # Correcting date and time of system | 33 &1 T3 oY 9077 &1 &1 T

Question Number : 85 Question Id : 3354724715 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In M5 Excel, what does an electronic spreadsheet consists of? | U Uaed H, Sadg] @ S die § #aT 3aT 57

Options:

1. ® Rows only | Tk dfE=m

2. % Columns only | & w8
3. % Cellsonly | T @9

4 ¥ All of the above | IUTE T

Question Number : 86 Question Id : 3354724716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the purpose of ‘Show Markup’ menu in MS Word 20077 | TAUE 32 2007 # '3 ATk T 1 797 3599 &7
Options:

1. % To show insertions, deletions and formatting changes | sf@daq, e sty e fead 7 fewgmr

2 #® Toshow spelling and grammatical errors | @d-1 1T s it &1 fgmmT

% % To show word count and page numbers | feg GEAT &Y T8 FET fS@H=T
4 % Toshow headers and footers | §2¢ 8 et Tg@mT

Question Number : 87 Question Id : 3354724717 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following tool is used to print the file or mail in Cutlook? | STITd® H BTge AT Hel @1 W & &
Toiy 2= & Tore ot &7 =T %m AT 87

Options:
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&

4 &

Question Number : 88 Question Id : 3354724718 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is an Ethernet network? |Sete Joad odTd &7

Options:

1. ¥ Itis the 4G broadband network | Ig 4% #T2<g Jedd z1aT 5l

2. ¥ [t is the wired Local Area Networl (LAN) | T T2 #ldd U7 Jeader (LAN) T 8

2. % Itis the internet connection using modern | 95 HIZH $T 5&d HIH B §U T0CAe Heera 7 FiaT 3]

4. % [t is the wireless network | TF AT 2@ FAT &1

Question Number : 89 Question Id : 3354724719 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The first computers were programmed using: | 5o FFIEd 1 419 & JUF0T ZRT W T ST ar:

Options:

1. % Assembly language | SFTHEHAT #TT
2. ¥ Machine language | AT &=

3. % Code words | FIE 924

4 % Security cornmands | et et wHiza

Question Number : 90 Question Id : 3354724720 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What happens when you press ‘Ctrl + ¥’ after selecting sorme cells in Excel? | 2T 51aT & e &0 U6 § §9 dod
ﬁﬁwaﬂgﬂfaﬂcm + X T 87

Options:

1. ¥ The cell content of selected cells disappear from cell and get stored in clipboard | Heiee @1 TE g BT 9
W, WA %@@W%ﬁﬁﬁéﬁ&ﬁméﬁw%

2. ¥ The cells selected are marked for cutting | 9@ &1 TE d7d, T & #07 Fd 57 AT 21

o R T%T: selected cells are deleted and the cells are shifted left | Tewe & TE Tva, &6l 5T 6T 5 S Gedl 918 3T
a5 AT

4. % The selected cells are deleted and cells are shifted up | BT & T od 2 5T AET 5 2T Hed T & 3 795

Question Number : 91 Question Id : 3354724721 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which shortcut key is used to make the selected character subscripted in MS Word 20077 | TATT 92 2007 #
Holte THET JTe Y Hed e 1 iigd @i o To7 Tore oifdare 3t o7 ST foraT a7 27

Options:
1. ¥ Cirl + =

= % Ctrl 4+ Shift + =
I ® Alt 4+ Ctrl + Shift + =
4. % None of above | JWH § € &I 51
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Question Number : 92 Question Id : 3354724722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following ke%;_s is used to delete characters to the left of the cursor? | 5 | # Tore grit @7 I,
FHT o ATE A & 1y TEete e o oy T AT 87

Options:

1. # Shift
2. % Esc
I % Delete

4. % Backspace

Question Number : 93 Question Id : 3354724723 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
which of the following is NOT an example of web-browser? | =5 # & &7 Sa-a137¢ &1 UF IS0 T51 27

Options:
1. ® Mozilla Firefox | BT B2 E T

2 % Google Chrome | T0TH ® 0

% % Internet Explorer | $e-¢ UFAHLAT T
4 ¥ Avast | TOEC

Question Number : 94 Question Id : 3354724724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Arrange the following units of memory TE, KE, GE, and ME in the order of higher to lower: | WEtie s #A &1
T@Edl, TE, KE, GE, ME aﬁagﬁﬁﬁammﬁaﬁaﬁfrﬁ

Options:

1. % GE>MEB>KB>TE
2. ® TE-ME>GE>KE
3. % ME>GE>TE>KE
4 ¥ TE>GE>ME>KE

Question Number : 95 Question Id : 3354724725 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Cacheisa: | FAEHETE:

Options:

1. ® Permanent memory | WHHZ HHRT

2. ¥ Temporary memory | SFR AATT

% % Storage device | TEie TEamEd

4 % None of the above | IW® § § §F 751

Question Number : 96 Question Id : 3354724726 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
__________ is a type of software that is similar to an accountant's worksheet, | T T AIFeaay & AT

TS e F @R BT
Options:
1. ® Word Processing | a2 WE@T
2. % Data Base | 2799
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3. ¢ Spreadshest | T2
4. ¥ Graphics | TTIthe

Question Number : 97 Question Id : 3354724727 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Corronents in MS Excel 2007 can be added by

@

Options:

1. % Right Click Insert Corrrment | Y15¢ Toold 568 @#He
2. % Right Click Edit Cormment | 152 & Uise FHe
= # Left Click File Comument | A0 Tord e HHe

4. ® Left Click Insert Cormment | @72 @ e FHe

Question Number : 98 Question Id : 3354724728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In MS Excel, what does MS stand for? | MS EXCEL #, MS 9% & o7 mgw_ g1 87

Options:

1. % Miss

2. % MicroSoft
3. % Mini Soft
4. % Minute Soft

Question Number : 99 Question Id : 3354724729 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘CTEL+C" in M5 Word is used for which one of the following operations? | TATE 72 # CTRL+O 5 st &
Tofty g B AT 27

Options:

1. ¥ Create new docurnent | =T ST #e a7 81

2. % COwerwrites docwment [ STHIHT BT 1 U5¢ FdT o)

3. ¥ COpens a docurnent | ZTHIRHT FIAdT 8

4. % Selects a docurnent | STEIHT ® HelTe FaT 2l

Question Number : 100 Question Id : 3354724730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The main purpose of the secondary storage device is: | HHe T2 I [EaEd F1 §&I% 5998 T &,

Options:

1. % MNetworking | SZaihT

2 ® Toinstall OF | 1T SECIA Fe o foll
3. ¥ To store data | 22762 B & ol

4 % Toincrease the cormputer speed | FF=ET THE ag & o0
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